Ve 29FF F3MO EEI—X (U-14) VYvI—Ax EBEITOYIAS

==

IE B8mJ0vD3I/BESR
FE EEBXYYAH—IHE

HiH

=%

k295108288 () 298 (B)
FEEHALEIRNRT v N—15 (ZEH. ZELE)

FE/-2T 108288 (1) - 298 (H)

(91 LF7—=T)V]

=i% . 2N

AJDOv D | #gBP [ SEDD [ A E2nd
1 FxBEP @ ©) ©)
2  AED® @ ®
3 H—&EG @
4 RE2nd
=iz - 2L
BJOwD | #AD [mssid|emrsaus| S8
1 B @ S ©)
2 WEEID @ ®
3 EEMdris LD @)

4 FREFP

%10R8288 () FB1HE~B4HEEXTET

DO
108298 (B) ICE5 - £6:EZ17D.

XWKEF (NIERATY) OBEDEE

(P& =)

AT Dy D—-E@HIMEPER
BIOv U—-=@HILABPIR

(BRLDRES)

B0 —~ZEEMIIEPIEAN
ZE LG ERHIE PR

AJOv D (215 2880 =Y

65D (30—5—30) ZH%UZJ—I\“ R A1 A2 4th
EASS (D] 930 ~ 1035 k% vs aH | B B NE ER
F295 @] 1040 ~ 11:45]| @bk vs wEg | %3 D &3 ED
FE37G |Q] 1245 ~ 1350| #xb3 vs wpEg | JAtk  BED Bk RS
£455 (@] 1365 ~ 1500| 5p vs @ik | #&lp tEg &5 E
F545[6G] 930 ~ 1035] &3 vs @k | B MEg ED  WWEg
Foi8 0] 1040 ~ 11:45] JBD vs @ | B iR kR &5
BJOvY (B85 24ELB) =Y

65797 (30—5—30) Xy 0 — = R A1 A2 4th
FA1HE5 (D] 930 ~ 1035 #8A vs FE | =88 iy =8 iy
FE295 (@] 1040 ~ 1145 #8jk vs =T | P8 EBA AR A
EIGG Q] 1245 ~ 1350 g8 vs = | #ajk  HE #ek  gps
$4578 19| 13655 ~ 1500] 8 vs Fedb | 880  SRBF  #BN  REJ
E555 [0 930 ~ 1035 #A vs #8dr | B8 FE  =EA s
o5 [0 1040 ~ 11:45| W5 vs =eg | A gl g8 #edb
MBI RFEE 10/829H (H)
=I5 280 _

65797 (30—5—30) X0 — = R A1 A2 4th
5-efmres| D] 1245 ~ 1350 Vs A1 BA1fi1 A1 BAfiz
| 1 - 2fREH @] 1355 ~ 1500 V'S B3fiz A3fi1 B3fi1 A3fi
=i5 L SELS

65D (30—5—30) XUE ) — = R A1 A2  4th
7 -stres| (D] 12:45 ~ 1350 Vs B2fii A2 B2i1 A2
3-amrEs| Q] 1355 ~ 1500 V'S A4l B4fT A4fl B4




